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using Microsoft.VisualStudio.TestTools.UnitTesting;
using A10;

using System;

using System.Collections.Generic;

using System.Ling;

using System.Text;

using System.Threading.Tasks;

using TestCommon;

namespace A10.Tests
{
[DeploymentItem("TestData")]
[TestClass()]
public class GradedTests
{
[TestMethod (), Timeout(1000)]
public void SolveTest_Q1PhoneBook()
{
RunTest (new Q1PhoneBook("TD1"));
}

[TestMethod (), Timeout (1000)]
public void SolveTest_Q2HashingWithChain()
{

RunTest (new Q2HashingWithChain("TD2"));
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[TestMethod(), Timeout (1000)]
public void SolveTest_Q3RabinKarp()
{

RunTest (new Q3RabinKarp("TD3"));
}

public static void RunTest(Processor p)

{
TestTools.RunLocalTest("A10", p.Process, p.TestDataName,
p.Verifier, VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);
}

/// <summary>
/// This test is just to help you test your
/// PreComputeHashes function. It is not graded
/// </summary>
[TestMethod ()]
public void PreComputeHashesTest ()
{
// Uncomment the following line if you want to have it Tun
// Assert.Inconclusive();
string testStr = "aaaa";
int patternlLen = 2;
long[] H = Q3RabinKarp.PreComputeHashes(
testStr, patternlen, 101, 3);

for (int i = 0; i < testStr.Length - patternlLen + 1; i++)
{
long expectedHash =
Q2HashingWithChain.PolyHash(testStr, i, patternLen, 101, 3);
Assert.AreEqual (expectedHash, H[i]);
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using System;

using System.Ling;

using System.Collections.Generic;
using TestCommon;

namespace A10

{

public class Contact

{

}

public string Name;
public int Number;

public Contact(string name, int number)

{

Name = name;
Number = number;

public class Q1PhoneBook : Processor

{

public Q1PhoneBook(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>

TestTools.Process(inStr, (Func<string[], string[]>)Solve);

protected List<Contact> PhoneBookList;

public string[] Solve(string [] commands)

{

}

PhoneBookList = new List<Contact>(commands.Length);
List<string> result = new List<string>();
foreach(var cmd in commands)

{
var toks = cmd.Split();
var cmdType = toks[0];
var args = toks.Skip(1).ToArray();
int number = int.Parse(args[0]);
switch (cmdType)
{
case "add":
Add(args[1], number);
break;
case "del":
Delete (number) ;
break;
case "find":
result.Add(Find (number)) ;
break;
}
}

return result.ToArray();

public void Add(string name, int number)

{

for(int i=0; i<PhoneBookList.Count; i++)
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if (PhoneBookList[i].Number == number)

{
PhoneBookList[i] .Name = name;
return;
}
}
PhoneBookList.Add (new Contact(name, number));
}
public string Find(int number)
{
for (int i = 0; i < PhoneBookList.Count; i++)
{
if (PhoneBookList[i].Number == number)
return PhoneBookList[i].Name;
}
return "not found";
}
public void Delete(int number)
{
for (int i = 0; i < PhoneBookList.Count; i++)
{
if (PhoneBookList[i].Number == number)
{
PhoneBookList.RemoveAt (i) ;
return;
}
}
}
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using System;

using System.Collections.Generic;
using System.Ling;

using TestCommon;

namespace A10



public class Q2HashingWithChain : Processor

{
public Q2HashingWithChain(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, string[], string[]>)Solve);

public string[] Solve(long bucketCount, string[] commands)
{
List<string> result = new List<string>();
foreach (var cmd in commands)
{
var toks = cmd.Split();
var cmdType = toks[0];
var arg = toks[1];

switch (cmdType)
{
case "add":
Add (arg) ;
break;
case "del":
Delete(arg) ;
break;
case "find":
result.Add(Find(arg));
break;
case '"check":
result.Add(Check(int.Parse(arg)));
break;
}
}
return result.ToArray();

}

public const long BigPrimeNumber = 1000000007;
public const long ChosenX = 263;

public static long PolyHash(
string str, int start, int count,
long p = BigPrimeNumber, long x = ChosenX)

{
long hash = 0;
return hash;
}
public void Add(string str)
{
}
public string Find(string str)
{
return "";
}
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public void Delete(string str)

{
}
public string Check(int i)
{
return "";
}
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using System;
using System.Collections.Generic;
using TestCommon;




namespace A10

{
public class Q3RabinKarp : Processor
{
public Q3RabinKarp(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<string, string, long[]>)Solve);
public long[] Solve(string pattern, string text)
{
List<long> occurrences = new List<long>();
int startIdx = O;
int foundIdx = 0;
while ((foundIdx = text.IndexOf (pattern, startIdx)) >= startIdx)
{
startldx = foundIdx + 1;
occurrences.Add(foundIdx) ;
}
return occurrences.ToArray();
}
public static long[] PreComputeHashes(
string T,
int P,
long p,
long x)
{
return new longl[]l { };
}
}
}
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// Bloom filter: https://www.jasondavies.com/bloomfilter/
using System;

using System.Collections;

using System.Ling;

using TestCommon;

namespace A10

{
public class Q4BloomFilter

{
BitArray Filter;
Func<string, int>[] HashFunctions;

public Q4BloomFilter(int filterSize, int hashFnCount)
{

// Write your code here to Initialize 'Filter' and 'HashFunctions

}

'

public void Add(string str)

{
for (int i=0; i< HashFunctions.Length; i++)
{
Filter [HashFunctions[i] (str)] = true;
}
}
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public bool Test(string str)

{

for (int i=0; i<HashFunctions.Length; i++)

{
if (Filter[HashFunctions[i] (str)] == true)
{
continue;
}
return false;
}

return true;
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